
� No.252B余両方-5-1 �

No.252B余両方-5-1 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 59.36÷ 0.9 (2) 408.9÷ 0.05

(3) 8.413÷ 0.09 (4) 7.612÷ 0.09

(5) 31.83÷ 0.07

� 13th-note �



� No.252B余両方-5-1 �

No.252B余両方-5-1 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 59.36÷ 0.9

65.95 · · · 0.005

(2) 408.9÷ 0.05

8178

(3) 8.413÷ 0.09

93.47 · · · 0.0007

(4) 7.612÷ 0.09

84.57 · · · 0.0007

(5) 31.83÷ 0.07

454.7 · · · 0.001

� 13th-note �



� No.252B余両方-5-2 �

No.252B余両方-5-2 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 132.7÷ 0.03 (2) 4659÷ 0.7

(3) 0.9527÷ 0.002 (4) 45.46÷ 0.006

(5) 5945÷ 0.9

� 13th-note �



� No.252B余両方-5-2 �

No.252B余両方-5-2 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 132.7÷ 0.03

4423 · · · 0.01

(2) 4659÷ 0.7

6655 · · · 0.5

(3) 0.9527÷ 0.002

476.3 · · · 0.0001

(4) 45.46÷ 0.006

7576 · · · 0.004

(5) 5945÷ 0.9

6605 · · · 0.5

� 13th-note �



� No.252B余両方-5-3 �

No.252B余両方-5-3 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 83.73÷ 0.05 (2) 9.386÷ 0.008

(3) 6.06÷ 0.009 (4) 0.2483÷ 0.002

(5) 9.538÷ 0.006

� 13th-note �



� No.252B余両方-5-3 �

No.252B余両方-5-3 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 83.73÷ 0.05

1674 · · · 0.03

(2) 9.386÷ 0.008

1173 · · · 0.002

(3) 6.06÷ 0.009

673.3 · · · 0.0003

(4) 0.2483÷ 0.002

124.1 · · · 0.0001

(5) 9.538÷ 0.006

1589 · · · 0.004

� 13th-note �



� No.252B余両方-5-4 �

No.252B余両方-5-4 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 953.1÷ 0.8 (2) 321.8÷ 0.05

(3) 95.45÷ 0.4 (4) 54.14÷ 0.06

(5) 7.535÷ 0.07

� 13th-note �



� No.252B余両方-5-4 �

No.252B余両方-5-4 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 953.1÷ 0.8

1191 · · · 0.3

(2) 321.8÷ 0.05

6436

(3) 95.45÷ 0.4

238.6 · · · 0.01

(4) 54.14÷ 0.06

902.3 · · · 0.002

(5) 7.535÷ 0.07

107.6 · · · 0.003

� 13th-note �



� No.252B余両方-5-5 �

No.252B余両方-5-5 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 1.359÷ 0.004 (2) 59.62÷ 0.008

(3) 293.7÷ 0.2 (4) 837.5÷ 0.3

(5) 4.4÷ 0.09

� 13th-note �



� No.252B余両方-5-5 �

No.252B余両方-5-5 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 1.359÷ 0.004

339.7 · · · 0.0002

(2) 59.62÷ 0.008

7452 · · · 0.004

(3) 293.7÷ 0.2

1468 · · · 0.1

(4) 837.5÷ 0.3

2791 · · · 0.2

(5) 4.4÷ 0.09

48.88 · · · 0.0008

� 13th-note �



� No.252B余両方-5-6 �

No.252B余両方-5-6 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 2265÷ 0.9 (2) 277.8÷ 0.08

(3) 580.4÷ 0.08 (4) 75.86÷ 0.4

(5) 0.9374÷ 0.005

� 13th-note �



� No.252B余両方-5-6 �

No.252B余両方-5-6 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 2265÷ 0.9

2516 · · · 0.6

(2) 277.8÷ 0.08

3472 · · · 0.04

(3) 580.4÷ 0.08

7255

(4) 75.86÷ 0.4

189.6 · · · 0.02

(5) 0.9374÷ 0.005

187.4 · · · 0.0004

� 13th-note �



� No.252B余両方-5-7 �

No.252B余両方-5-7 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 258.4÷ 0.3 (2) 19.54÷ 0.007

(3) 25.08÷ 0.005 (4) 203.6÷ 0.6

(5) 2.735÷ 0.006

� 13th-note �



� No.252B余両方-5-7 �

No.252B余両方-5-7 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 258.4÷ 0.3

861.3 · · · 0.01

(2) 19.54÷ 0.007

2791 · · · 0.003

(3) 25.08÷ 0.005

5016

(4) 203.6÷ 0.6

339.3 · · · 0.02

(5) 2.735÷ 0.006

455.8 · · · 0.0002

� 13th-note �



� No.252B余両方-5-8 �

No.252B余両方-5-8 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 0.1084÷ 0.006 (2) 448.9÷ 0.2

(3) 573.5÷ 0.7 (4) 65.59÷ 0.04

(5) 458.9÷ 0.7

� 13th-note �



� No.252B余両方-5-8 �

No.252B余両方-5-8 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 0.1084÷ 0.006

18.06 · · · 0.00004

(2) 448.9÷ 0.2

2244 · · · 0.1

(3) 573.5÷ 0.7

819.2 · · · 0.06

(4) 65.59÷ 0.04

1639 · · · 0.03

(5) 458.9÷ 0.7

655.5 · · · 0.05

� 13th-note �



� No.252B余両方-5-9 �

No.252B余両方-5-9 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 618.7÷ 0.7 (2) 757.5÷ 0.8

(3) 996.7÷ 0.7 (4) 75.67÷ 0.009

(5) 88.77÷ 0.05

� 13th-note �



� No.252B余両方-5-9 �

No.252B余両方-5-9 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 618.7÷ 0.7

883.8 · · · 0.04

(2) 757.5÷ 0.8

946.8 · · · 0.06

(3) 996.7÷ 0.7

1423 · · · 0.6

(4) 75.67÷ 0.009

8407 · · · 0.007

(5) 88.77÷ 0.05

1775 · · · 0.02

� 13th-note �



� No.252B余両方-5-10 �

No.252B余両方-5-10 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 3.836÷ 0.008 (2) 0.659÷ 0.009

(3) 90.98÷ 0.09 (4) 398.2÷ 0.07

(5) 365.4÷ 0.05

� 13th-note �



� No.252B余両方-5-10 �

No.252B余両方-5-10 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 3.836÷ 0.008

479.5

(2) 0.659÷ 0.009

73.22 · · · 0.00002

(3) 90.98÷ 0.09

1010 · · · 0.08

(4) 398.2÷ 0.07

5688 · · · 0.04

(5) 365.4÷ 0.05

7308

� 13th-note �


